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1. In the given parallelogram, which of the following statements are true?
a) KN=MN
b) MJ | KL
c) Nis the mid point of JL

d) AKM) = ALM|
e) KN=NJ

] K

(i) {d,a} (i) {d,e,c} (iii) {e,b} (iv) {a,b,c} (v) {d,a,b}

2. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then GH ||
] |

G H

() 1 (i) H (i) HI (iv) GI (v) )G

3. In parallelogram BCDE, diagonals CE and BD intersect atF. Then DE ||
E D

B C

(iy BD (ii) CE (iii) BC (iv) CD (v) EB



4. In parallelogram PQRS, diagonals QS and PR intersect atT. Then SP ||

5 R
P Q

(iy PQ (ii) RS (iii) PR (iv) QS (v) QR

5. In parallelogram CDEF, diagonals DF and CE intersect atG. Then DE |

F E
C b

(i) CD (i) CE (iii) DF (iv) EF (v) FC

6. In parallelogram MNOP, diagonals NP and MO intersect atQ. ThenMN =
P O

M N

(i) NP (ii) MO (iii)) OP (iv) NO (v) PM

7. In parallelogramHIJK, diagonals IKand HJ intersect atL. ThenJK =
K J

H |

(i) HI (i) KH (i) H) (iv) 1J (v) IK

8. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then)G =
| |

G H

(i) GI (i) H) (i) 1} (iv) HI (v) GH



9. In parallelogram LMNO, diagonals MO and LN intersect atP. ThenMN =
O N

L M

(i) LN (ii) oL (iii) LM (iv) NO (v) MO

10. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then AQNO =
Q p

N O

(i) ANOR (ii) ANOP (iii) APQN (iv) AOPQ (v) APQR

11. In parallelogramlJKL, diagonals JL and IKintersect atM. Then AJKL =
L K
| ]
(i) AKLI (i) AJK (i) AJM (iv) ALl (v) AKLM

12. In parallelogram DEFG,diagonaIs'EG and DF intersect atH. Then AFGD =
G F
D E

(i) AFGH (ii) ADEF (iii) AGDE (iv) AEFG (v) ADEH




13. In parallelogram CDEF, diagonals DF and CE intersect atG. Then ACDE =
F E

= D

(i) AEFG (ii) ADEF (iii) AEFC (iv) AFCD (v) ACDG

14. In parallelogram CDEF, diagonals DF and CE intersect atG. Then ZFCD =
F E

C D

(i) LEFG (ii) £EFC (iii)) £CDG (iv) 4CDE (v) ZDEF

15. In parallelogramJKLM, diagonals KM and JL intersect atN. Then ZKLM =
M L

] K

(i) ZJKL (i) £ZLMJ (i) ZJKN (iv) ZMJK (v) ZLMN

16. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then £LGHI =
] |

G H

(i) G (i) ZGHK (i) ZJGH (iv) ZHlJ (v) ZIK

17. In parallelogram PQRS, diagonals QS and PR intersect atT. Then ZRSP =
5 R

P Q
(i) £PQR (ii) £SPQ (iii) £QRS (iv) £4ZPQT (v) ZRST



18. In parallelogramKLMN, diagonals LN and KM intersect atO. ThenMO =
N M

K L

(i) NK (ii) KO (iii) NO (iv) LO (v) LM

19. In parallelogram DEFG, diagonals EG and DF intersect atH. ThenDH =
G F

D E

(i) GD (ii) GH (iii)) EF (iv) EH (v) FH

20. In parallelogram LMNO, diagonals MO and LN intersect atP. ThenOP =
O N

L M

(i) NP (ii) LP (iii) MN (iv) OL (v) MP

21. In parallelogram]JKLM,diagonals KM and JL intersect atN. ThenKN =
M L

J K

(i) JN (i) MN (iii) LN (iv) KL (v) M]

22. In rhombusPQRS, diagonals PR and QS intersect atT. Then PQ ||
5 R

N
N

P Q

(iy RS (i) SP (iii)) QS (iv) QR



23. In rhombusEFGH, diagonals EG and FH intersect atl. Then GH ||
H G

X

m

F

—

i) FH (ii) HE (iii) FG (iv) EF

24. In rhombusHIJK, diagonals H) and IK intersect atL. Then KH ||

"

(i) 1) (i) HI i) 1K (iv) JK

25. In rhombusLMNO, diagonals LN and MO intersect atP. Then MN ||
o] N

X

—

M

i) LM (i) MO (iii) NO (iv) OL

—

26. In rhombus MNOP, diagonals'MO and NP intersect atQ. ThenMN =
p 0]

y

=
=

(i) NP (ii) PM (iii) NO (iv) OP

27. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Thenl) =
] |

X

@

H

(i) H) (i) JG (iii) GH (iv) HI



28. In rhombusDEFG, diagonals DF and EG intersect atH. ThenGD =
G F

X

v}

E

—

i) FG (ii) DE (iii)) EG (iv) EF

29. In rhombusFGHI, diagonals FH and Gl intersect atJ. ThenGH =
| H

X

m

G

(i) FG (ii) GI (iii) HI (iv) IF

30. In rhombusLMNO, diagonals LN and MO intersect atP. Then AOLM =
o] N

X

-

M

(i) ALMN (ii) APLM (iii) AMNO (iv) ANOL

31. In rhombusDEFG, diagonals DF and EG intersect atH. Then AEFG =
G F

X

D E

(i) AFGD (ii) AGDE (iii) AHDE (iv) ADEF



32. In rhombus]KLM, diagonals JL and KM intersect atN. Then ALM) =

=
=
~
=

[—

(i) AJKL (i) AMJK (i) AKLM (iv) ANJK

33. In rhombusBCDE, diagonals BD and CE intersect atF. Then ABCD =
E D

X

m

C

—_

i) ADEB (ii) ACDE (iii)) AFBC (iv) AEBC

34. In rhombusLMNO, diagonals LN and MO intersect atP. Then APLM 2
N

o

%

L M

(i) APNM (ii) APLO (iii) APNO (iv) AOLM

35. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then AKIH &
J |

X

(9]

H

(i) AKGH (i) AKG) (iii) AJGH (iv) AKI

36. In rhombus MNOP, diagonals MO and NP intersect atQ. Then AQOP &
8]

)

o

M N

(i) AQON (ii) AQMP (iii) APMN (iv) AQMN



37. In rhombusABCD, diagonals AC and BD intersect atE. Then AEAD &
D C

X

A B

(i) AECD (ii) AECB (iii) AEAB (iv) ADAB

38. In rhombusFGHI, diagonals FH and Gl intersect at). Then LIFG=

X

F G

(i) £FG) (ii) £FGH (iii) £GHI (iv) ZHIF

39. In rhombusFGHI, diagonals FH and Gl intersect at). Then LGHI=
I H

X

-

G

(i) £FG) (ii) ZIFG (iii) £FGH (iv) Z4HIF

40. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ZNOP =
Q P

X

=

8]

(i) £NOR (ii) £40OPQ (iii) £PQN (iv) 4QNO



41. In rhombusOPQR, diagonals OQ and PR intersect atS. Then ZQRO =
R Q

X

o

P

(i) £OPQ (ii) £ROP (iii)) £OPS (iv) £4PQR

42. In rhombusFGHI, diagonals FH and Gl intersect at). Then ZGJF =
I H

X

-

G

(i) ZF)I (i) ZIFG (iii) ZHG (iv) ZIH

43. In rhombuslJKL, diagonals 1K and]L intersect atM. Then ZLMK #
K

—

?

| J
(i) £JMI (i) ZIML (iii) ZLl) (iv) ZKMJ

44. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ZHLK =
K J

T

(i) £KHI (i) £ILH (i) 4Ky (iv) Z)ul



45. In rhombusKLMN, diagonals KM and LN intersect atO. Then ZMOL #
N M

K L

(i) £KON (ii) £LOK (iii) £ZNOM (iv) £NKL

46. In rhombusOPQR, diagonals OQ and PR intersect atS. Then £LSOP #
R Q

O P

(i) £LROS (ii) 4SQR (iii) £OSR (iv) £ZPQS

47. In rhombus MNOP, diagonals'MO and NP intersect atQ. Then ZQOP #
P 8]

M N

(i) £LNOQ (ii) 4PMQ (iii) £MQP (iv) 4QMN

48. In rhombus]KLM, diagonals JL and KM intersect atN. Then ZMJN =
M L

| K

(i) £LNJK (i) ZJNM (iii) £ZNLM (iv) £KLN

49. In rhombus]KLM, diagonals JL and KM intersect atN. Then ZKLN #
M L

] K

(i) ZNJK (i) ZMJN (i) ZJNM (iv) ZNLM



50. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZPOL #
N

]

%

L

=

(i) £LNOP (ii) £OPN (iii)) £ZPMN (iv) ZLMP

51. In rhombusEFGH, diagonals EG and FH intersect atl. Then £ZIFG =
G

T

a

E

-

(i) £EFI (i) ZIHE (iii) £ZHIG (iv) 4GHI

52. In rhombusIJKL, diagonals IK and JL intersect atM. Then ZIjM =

'_
-~

X

—

i) LLMK (ii) £MLI (iii) £MJK (iv) £ZKLM

53. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ZPQR =
Q P

X

=

O

(i) £NOR (ii) £ZRQN (iii) £QRP (iv) ZROP

54. In rhombusDEFG, diagonals DF and EG intersect atH. ThenGH =
G F

X

g

E

—

i) GD (ii) DH (iii)) EH (iv) FH



55. In rhombusOPQR, diagonals OQ and PR intersect atS. ThenPS=
R Q

y

o

p

(i) QS (ii) RS (iii)) OS (iv) RO

56. In rhombusPQRS, diagonals PR and QS intersect atT. ThenPT=
5 R

X

=)

Q
(i) RT (ii) QT (iii) ST (iv) SP

57. In rhombusEFGH, diagonals EG and FH intersect atl. ThenGl=
H G

X

m

F

—

i) HI (i) FI (iii) ElI (iv) HE

58. In trapeziumIJKL, IK and JL are diagonals.Then ] |
L K

X

—

i) LI (i) KL (ii) JK (iv) JL (v) IK



59. In trapeziumMNOP, MO and NP are diagonals.Then OP ||
P O

M N

(i) MN (ii) NO (iii) PM (iv) NP (v) MO

60. In kite MNOP, MO and NP are diagonals. ThenMN =
9]

M

(i) NP (ii) OP (iii) MO (iv) PM (v) NO

61. In kiteGHIJ, Gl and HJ are diagonals. Then)G =
|

G

(i) GH (ii) HI (i) H (iv) GI (v) 1)



62. In kiteBCDE, BD and CE are diagonals. ThenCD =
D

B

(i) DE (ii) BD (iii)) BC (iv) CE (v) EB

63. In kiteKLMN, KM and LN are diagonals. ThenMN =
M

K

(i) LN (ii) NK (iii)) KM (iv) LM (v) KL

64. In kitelJKL, IK and JL are diagonals. Then £LIJK=
K

(i) £IML (i) 4Ky (i) £y (iv) £IM) (v) Z£ZKL



65. In kiteJKLM, JL and KM are diagonals. Then £ZLM] =
L

J
(i) £JNK (i) ZLMK (iii) ZJNM (iv) ZJMK (v) ZJKL

66. In kite DEFG, DF and EG are diagonals. Then ZDHG =
F

o

(i) £LFGE (ii) £FGD (iii) £DGE (iv) £4DHE (v) £DEF

67. In kiteGHIJ, Gl and HJ are diagonals. Then LZGKH =
|

G

(i) ZGHI (i) ZIH (i) £GKJ (iv) ZGJH (v) ZI)G



68. In kiteHIJK, HJ and IK are diagonals. Then AJKH=
J

H

(i) AU (i) ALKH (i) AKIH (iv) AJIH (v) AKl)

69. In kiteNOPQ, NP and OQ are diagonals. Then APON =
P

N

(i) AQON (ii) AQOP (iii) APQN (iv) ARQN (v) ARPO

70. In kiteEFGH, EG and FH are diagonals. Then AIHE =
G

E

(i) AHFE (ii) AHFG (iii) AIGF (iv) AIGH (v) AIFE



71. In kitePQRS, PR and QS are diagonals. ThenATQP =
R

P

(i) ATRQ (ii) ASQR (iii) ATSP (iv) ATRS (v) ASQP

72. In kite MNOP, MO and NP are diagonals. Then AQOP =
(8]

M

(i) AQPM (ii) APNO (iii) AQNM (iv) APNM (v) AQON

73. In kiteKLMN, KM and LN are diagonals. Then AOML =
M

K

(i) ANLM (ii) AOMN (iii) ANLK (iv) AOLK (v) AONK



74. In kiteOPQR, OQ and PR are diagonals. Then ZROS =
Q

@]

(i) £RSQ (ii) £POS (iii) £OSR (iv) 4SQP (v) £4SQR

75. In kiteFGHI, FH and Gl are diagonals. Then £LGF) =
H

() ZF) (i) ZJHI (i) ZJHG (iv) ZIJH (v) ZIF)

76. In kiteFGHI, FH and Gl are diagonals. Then £Z]JHI=
H

F

() ZFJ (i) ZUH (iii) ZIF) (iv) £GF] (v) ZJHG



77. In kite ABCD, AC and BD are diagonals. Then LECB =
C

A

(i) £BAE (ii) £DEC (iii) £LECD (iv) 4DAE (v) ZLAED
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